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GENERAL INSTRUCTIONS :

Read the following instructions carefully and follow them :

(1) This question paper contains 30 questions. All questions are
compulsory.

(it)  Question paper is divided into FIVE SECTIONS - Section A, B, C, D
& E.

(iti) Section A — question number 1 to 12 are multiple choice type questions.

Each question carries 1 mark.

(iv)  Section B - question number 13 to 18 are Short Answer type questions.

Each question carries 2 marks. Write answer to each question in

50 to 60 words.

(v)  Section C - question number 19 to 23 are Long Answer type-I
questions. Each question carries 4 marks. Write answer to each question
in 100 to 120 words.

(vi) Section D — question number 24 to 26 are passage, cartoon and Map-
based questions. Answer each question accordingly.
(vit) Section E - question number 27 to 30 are Long Answer type-II

questions. Each question carries 6 marks. Write answer to each question

in 170 to 180 words.

(viit) There is no overall choice in the question paper. However, an internal choice
has been prouvided in few questions. Only one of the choices in such

questions has to be attempted.

(ix)  In addition to this, NOTE that a separate question has been prouvided for
Visually Impaired candidates in lieu of questions having visual inputs,
Map etc. Such questions are to be attempted by Visually Impaired
Candidates only.
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TUE —F
YA TEAT 1 W 12 T Sgfashedi TR % 1 AR F A E | 12x1=12
1. YA 0 TSI O “Hia TUe 1 T 8 7 1
(A) wfrg B) 3w
(C) TR WS (D) HTTeivE

2. 9 7 frefafea d & frm stufrafyes smem @ svenfirn i sfa @ & foag s

1| fhe 9 7 1
A) fafew B) wrEE
(C) gty (D) ==

3. freferfad o & @ %o feu 2 57w @ us w1 3rfirke (A) 7uT g S HRY (R)
g 31ferd Tomam T B | 39 A 1 e9H ¥ ufeu R = few wu faswedi (A), (B), (C)
3R (D) ¥ 3T &9 4 gl foehed g : 1

arfirRem (A) : Torst A9t the (MINF) 3 Tt o fote werer 31fmam 3 foham o |
HROT (R) : Tt o o1 TSl TeTet & sl 37 o 3T e ST SToTT ST 7717 o7 |
farerea

(A) 3fpYT (A) 3R SR (R) SHT H&1 @ 3T &RoT (R) 3Afirerem (A) 1 T&) =amen
2l

B) 3fFHYT (A) 3R HROT (R) SHT &l & 3T HR0T (R) AThe (A) 4 T&) =amen
Er
(C) 3Afiped (A) T€l g 3R HHr (R) TTeAd 2 |

(D) 3fRY (A) Terd & TR HRT (R) 981 2 |
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SECTION - A

Question No. 1 to 12 are Multiple Choice type questions carrying

1 mark each. 12x1=12
1. ‘Karbis’ community belongs to which State of India ? 1
(A) Manipur (B) Assam
(C) Arunachal Pradesh (D) Nagaland

2. India made earnest effort for the early realisation of freedom of Indonesia

from the colonial regime of the . 1
(A) British (B) French
(C) Portugese (D) Dutch

3. In the following question, Statement of Assertion (A) is followed by a

Statement of Reason (R). Choose the appropriate option as the answer. 1

Assertion (A) : The Mizo National Front (MNF) started an armed

campaign for independence.

Reason (R) : After independence the Mizo Hill area was made an

autonomous district within Assam.
Options :
(A) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(B) Both (A) and (R) are correct and (R) is not the correct explanation of
A).

(C) (A) is correct and (R) is incorrect.

(D) (A) is incorrect and (R) is correct.

2159/4/2 5 P.T.O.
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4. <73 form a9 foeaa 9 spest st o e 2 1
(A) 1950 B) 1954
(C) 1960 D) 1962

5. WA h1 VW & IATE 3TRH hiF T ? 1
(A) TH.TA. IHER (B) gHURTH
(C) +.AF gem (D) 3. Fad

6. 9Rd o fohT TS § HEgfaee Urdl &1 A H et IR SAlhditeh gATEl o H1Ed | Tl

ITH§S ? 1
(A) ufvem s B)
(©) fm (D) #HRTgR

7. TafaRad we ° S %o fou Tu & f5H 8 vk Hi Ifrewda (A) T g & SR (R)
g 31fepd Topam T B | 39 A 1 e | ufeu R e few e faswmedi (A), (B), (C)
3R (D) ¥ ¥ W &9 4 Gl foehew g : 1

aafireRem (A) : A, = 3R 3171 fersprarsfier Qi b1 FTel WTeehict <hl STeardisti & &

el |

HRUT (R) : 3TIeRToT o SR 3 <1 H M3 191 1 IcdeH 0 @TH T4 o7 |
forereu

)

B)

(©)
D)

2159/4/2

3TRrReH (A) 3T HRU (R) 2T 92 & 3R R0 (R) 31RmeH (A) 1 &) e
2l

3TRReH (A) 3T SR (R) 2T T 8 31 wR0 (R) 31RepeH (A) i 98] e
TR

AR (A) & 2 3R (R) Tord & |

BT (A) TeTd & TR HROT (R) T2 |
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4. In which year did China annex Tibet ? 1
A 1950 B) 1954
(©) 1960 D) 1962

5.  The first Chief Election Commissioner of India was . 1
(A) S.L. Shakdhar (B) Sukumar Sen
(C) K.V.K. Sundaram (D) R.K. Trivedi

6. For the first time the communist party came to power through democratic

elections in which state of India ? 1
(A) W. Bengal (B) Kerala
(C) Tripura (D) Manipur

7. In the following question, a statement of Assertion (A) is followed by a

statement of Reason (R). Choose the appropriate option as the answer. 1

Assertion (A) : India, China and other developing countries were

exempted from the requirements of Kyoto Protocol.
Reason (R) : Their contribution to the emission of green house gases
during the industrialisation period was not significant.
Options :
(A) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(B) Both (A) and (R) are correct and (R) is not the correct explanation of
A).

(C) (A)1is correct and (R) is incorrect.

(D) (A) is incorrect and (R) is correct.
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8. -1 w1 gt-11 & Tl oot hifsre

-1

a. 31Tkl @Y
b.  wifead Memehid
c.  3TCThICHT T Fiewhict
d.  FE TR
forepea

a b ¢ d
A iv i i 1
@ 1 1 o v
© i iv i iii
D)y ii 1 iv ii

.

111.

1v.

9. I IRk ITHL 1 AT H, ToITE HiH o1t oAl bl FAfARga A A e Iarg ¢ 1

(A)  SATYETE
(C) sromef

(B) ot
D) 3rfamEt

10. TS SIS Q¥ 379 I3 o T U ToaR 3R SIHRRT AT haat & a1 39 JhRAT bt 3

HEAE ?

(A) T ST
(C) forgamg sgTett

11. % & 7ed TRETE <0 A 2001 T ¢H ¥ 8 G 1 a8 fohall ?

(A) drIfeRE
(C) I=dfhEd™
2159/4/2
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8.  Match the List-I correctly with List-II : 1
List-1 List-I1
a. Antarctic Treaty 1. 1997
b. Montreal Protocol ii. 1991
c. Antarctic Environmental Protocol  1iii. 1987
d. Kyoto Protocol 1v. 1959
Options :
a b ¢ d
A v 1 o1 1
@ 1 1 i iv
© 1 v 1 111
D) w1 iv i1
9. People who seek better economic opportunities abroad are called _ . 1
(A) Immigrants (B) Migrants
(C) Refugees (D) Non-Residents
10. A process in which the countries share ideas and information with their
rivals is called . 1
(A) Allhance Building (B) Arms control
(C) Confidence Building (D) Balance of Power
11. Which Central Asian Republic witnessed a civil war for ten years till 2001 ? 1
(A) Tajikistan (B) Kazakhstan
(C) Uzbekistan (D) Azerbaijan
2159/4/2 9 P.T.O.
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12. frafefaa aemeti #i Srashaar safed e a2 3o & &9 1 T8 faswed e : 1

() ®\FHIHI

(i) STHIEE W Hifed TR
(iii) wferra g o1 foeea

(v) Tt fowa gg =1 31

T
@A) @, (i), {ii), (iv) B) @, (i), Gv), (ii)
©) @, @ii), Gv), (i) D) @, Gv), (i), (iii)

Qg -9 6x2=12

13. gt urferzar & < = ferer shreom ufgerdt urfeream & wygea o1 foie fopam ? wm fifse | 2

14. YT GUETT o Ueh U<h o T H “ITeh Tt ! SATEAT SHINT | 2

15. Hrevifies oofeh Tt o TN bl TR o folT 1 SRGH ¥ 3T WaTeh hal T 7

Y HIT | 2
16. TIET h T YT o HHeT oo & b T &) Hied & 7 39b 14 fafg | 2
17. IRETEh GUETT o Teh T2h o € H “VIth e’ i SATEAT HifT | 2
18. 1990 3 dT¢ & 31 fUeel Sfei & TSTifeh 3¢F % HI0T i AR HIT | 2
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12. Arrange the following events in chronological order and choose the correct

option as answer : 1
(1) The Russian Revolution
(11) The Soviet invasion of Afghanistan

(111) The disintegration of Soviet Union

(iv) The end of the World War II

Options :
@A) @, (), (i), @v) B) @, (D), (v), (ii1)
©) @, (D), @v), (1) D) @, av), W), (111)

SECTION -B 6x2=12

13. Why did the people of East Pakistan resent the domination of West

Pakistan ? Explain the reason. 2

14. Explain ‘Balance of Power’ as a component of traditional security. 2

15. Why was India’s experiment with universal adult franchise described as
“bold and risky” ? Explain. 2

16. Name the two models of development before India on the eve of

independence. 2
17. Explain ‘Balance of Power’ as a component of traditional security. 2

18. Highlight the reason responsible for the political rise of other backward

classes since 1990. 2
2159/4/2 11 P.T.O.
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Qug -1 5x4=20

19. Ty i 31 e o ST o et bl o T b Hifer fewres gt & samen
HifeTT | 4

20. “ifeh A | Wfra T o Yo TIRTSHT ShT STLaET 98 81 718 |” fehedl < ehi o mneam &
% I T 38U | 4

21. (a) 1975 ® YR § ST U ATITdehTd & Hi@ U fohegl &1 ITal (Heehl) sl IR

ST | 4
AU
(b) 1975 H YRT T T T JTITdRTA o Tohral TR TROTHT b1 ISR SHIT | 4
22. (a) JATHIHIU B IS TR JATEl Sl SARSAT HIT | 4
Froran
(b)  ATfTHTOT & UfaRIE o I TR HRI T HIT | 4

23. IHITT gRI U H 394 IMEA o TRWT auf H, hgd TR & foeg T=n o,
=gl €1 TN 1 == IS | 4
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SECTION - C 5% 4=20

19. Explain any two Directive Principles of State Policy that promote

international peace and security. 4

20. “Shock Therapy brought ruin to the economies of the former republics of

the Soviet Union.” Justify the statement with any two arguments. 4

21. (a) Highlight any two lessons learnt from the imposition of Emergency in

India in 1975. 4

OR

(b) Highlight any four consequences of the imposition of Emergency in

India in 1975. 4

22. (a) Explain the four flows related to globalisation. 4
OR

(b) Explain any four reasons for resistance to globalisation. 4

23. Explain any two reasons for the resentment of the Akalis against the Central

Government in the initial years of their rule in Punjab. 4

2159/4/2 13 P.T.O.
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Qs —-¥ 3x4=12

24. Fr feu T st 1 e 1 ufed 3R frefafad wwat & s fafge -

Afeges Tt o Ir=wtd, TateRel geg W 1R eI < i ufskan 3 ssfiaT &
T € Sl # g TgHd o Tt 3R faehT W He¢ W hiwd U e | 319 ®9

foram | st geaht- e Tt +f et T | 4x1=4
()  geeft- e awre fore o gam o ¢

(A) 1990 B) 1991

(C) 1992 D) 1993

(i) Treferfga o & fore a1 b1 Y TErhict shi sTearanati & ge & s off 7
(&) HIH T STIHT
(B) FrEes fhrew
(C) wiE
(D) =

(i) fr=ferRaa o @ = o faewen T firer - i o1 afom 7= o 7
A) TivE21
(B) wad arei foetd
(C) dreh g 3rer-3rer fomerfat
(D) N FIErhIA

(iv) 3 % gueh & ue 4 fferiga 4 @ ferees o 37 wia o fog @i mam an 2
(A) 3IFTATUEH HETERR
(B) TRIT HEEFR
(C) 3icTehiesh

(D) 3TTehidsh HETHENR
2159/4/2 14
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SECTION - D 3x4=12

24. Read the passage given below carefully and answer the questions that

follow :

The growing focus on environmental issues within the arena of
global politics was firmly consolidated at United Nations Conference on
Environment and Development held in Rio de Janeiro of Brazil. This was
also called the Earth Summit. 4x1=4

(1) In which year was the Earth Summit held ?
4) 1990 B) 1991
(C) 1992 D) 1993

(i1) Which one of the following countries was exempted from the
requirements of the Kyoto Protocol ?

A) USA

(B) United Kingdom
(C) France

(D) China

(111) Which one of the following was not an outcome of the Rio Summit ?
(A) Agenda-21
(B) Sustainable Development
(C) Common but differentiated responsibilities

(D) Kyoto Protocol

(iv) The Ozone hole was discovered in the mid 80’s over the
(A) Atlantic Ocean
(B) Pacific Ocean
(C) Antarctic

(D) Arctic Ocean
2159/4/2 15 P.T.O.
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25. ¥RA % feu U T {@r-amts & =R Ta i (A), (B), (C) 3R (D) & g 3ifha
fre man 2 | R S TS IR % ATUR W 39 TSIl 1 U hife 31T 370 IR-
GfEqept | $oh TET A, SRR 61 T§ BRI T shH T a2 IHfaa | T wan gefera

18R, S & 7TE fetent o w9 ° faRaw
TR T HRRI | ARes dfem | tsawmam
6]
(i)
(111)
(iv)
() T8 Ty o 0w & qd TeeT . BT T TE-E o |

(i) I8 TS TGN Y I TH, T TH HETad T S 3T |
(i) % TS EE 6 TUTHHT AT SE1GL It 31 9y o |

4x1=4

(iv) T8 TS TG 1967 o faerm-ger gATat H S 41t bl SgHd STH T8 g7 o7 |
[ o o f’/’%_”r'n—"\-\‘ * - . - o 9 T e s
/.' ') ‘1\_) \'\_!_ e
s A S Tiforeh YEn-wrt
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25. In the given outline Map of India, four states have been marked as (A),
B), (C) and (D). Identify the States on the basis of the information given

below and write their correct names in the answer book alongwith the

respective serial numbers of the information used and the concerned

alphabet as per the format that follows :

@

Sr. No. of the Alphabet Name of
information used concerned the State
¢))
(i1)
(iii)
@iv)

4x1=4

The State to which the former Congress President K. Kamraj belonged.

(i1) The State from where the phrase ‘Aya Ram, Gaya Ram’ originated.

(111) The State to which former Prime Minister Lal Bahadur Shastri

belonged.

(1v) The State where the Congress Party did not get majority in 1967

2159/4/2

assembly elections.
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e : PferRa S St g i g, o e 25 FemwE | dx1=4

(25.1) 39 UST 1 AW fAfau F&T 1967 o faum -9 g1 § HE" 91l ! 9gqd
YT &1 377 T |

(25.2) 38U 1 AW fARge eE g6l e S SeTg A geta 9 |

(25.3) frrTST g ‘I Tm, T T haTad ol ST=H 311 4T 7

(25.4)  TohE TSI T Y % T 3187 . HIHUS hT TEE- AT ?

26. = feu mu it @ el #iga &1 sremEa Hifve 3R fafafea e % 3w
et 1+1+2=4

(i) e femman - ‘ama’ fore wyer w1 wfaffra s g
(i) 1A | femman w3 forw wgem w1 wfaffra s g ¢
(iii) TSTYE ZRI A S % s o1 91 3238 & 7 T8 HITT |

2159/4/2 18
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Note: The following questions are only for the Visually Impaired

Candidates in lieu of question number 25. 4x1=4

(25.1) Name the State where the Congress Party did not get majority
in the 1967 assembly elections.

(25.2) Name the State to which the former Prime Minister Lal
Bahadur Shastri belonged.

(25.3) The phrase ‘Aya Ram, Gaya Ram’ originated from which State ?

(25.4) The former Congress President K. Kamraj belonged to which State ?

26. Study the cartoon given below related to Sri Lanka and answer the

questions that follow : 1+1+2=14

(1) Which community does the tiger shown in the cartoon represent ?
(11) Which community does the Lion shown in the cartoon represent ?

(ii1) What did the balancing act by Rajpakshe aim at ? Explain.

2159/4/2 19 P.T.O.
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e : Fmafaiaa T e gieantera wftenfefa < fog, e dean 26 & M WE |

(26.1)
(26.2)
(26.3)

(26.4)

4x1=4
sficieh1 & g1 Jg@ "erl o 41 fafEu |
forg =1 foreqa = forfiam |
sfirent foret o oA gam e ¢

S G g 1 sficiert & i ged o qewey i ofieer faarE o 3meRr am
fafau |

Qg - 4x6=24

27. (a) WRA 1 3rferepier Torifers wifdali & offer 3w Tgmfa & fonedl i weargel qegi 6

ST HINT | 6
e
(b) 1989 % TTE TRT H ST TS-4 1 TTHRI o fohral I AT ohl ST I | 6
28. (a) I TE 1 fawa &1 h gumEeell ST WeT 9 9ot Rl IR wReT
fergersor ST | 6
e
(b) & TSI T TG i o fehed] =T el o1 ferverwor Hif | 6
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Note: The following questions are only for the Visually Impaired
Candidates in lieu of question number 26. 4x1=14
(26.1) Name the main communities of Sri Lanka.

(26.2) Write the correct expansion of LTTE.
(26.3) In which year did Sri Lanka get independence ?

(26.4) Name the country which mediated in the Ethnic conflict ?

Sri Lanka.

SECTION - E 4%x6=24

27. (a) Explain any three important issues on which a consensus has

emerged among most political parties of India. 6
OR

(b) Explain any three benefits of the coalition governments formed in

India since 1989. 6

28. (a) Analyse any four factors that make the European Union an

influential regional organisation of the world. 6
OR

(b) Analyse any four objectives of establishing the regional
organisations. 6

2159/4/2 21 P.T.O.
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29. (7a)ﬁ

(b)

30. (a)

(b)

2159/4/2

g 5 g e, e 5 e v e e e ot |

YAt

IRA H TeUaTe fEmad o e & qd 1 ge1sii 1 vl Hife |

TH T GRETT TS o TS a7 3¢ 31fereh Yreifires s o fore seafera e s
U HIT |

YT

3fid Ig <t FwTfh < a1 fova Toifa § o1me feredl =R aftarHi o1 avia <RI |
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29. (a)
(b)

30. (a)
(b)

2159/4/2

Describe any three challenges that India faced immediately after

independence. 6
OR

Describe the events that led to the merger of princely state

Hyderabad with India. 6

Describe the composition of the United Nations Security Council and

the suggested reforms to make it more relevant. 6
OR

Describe any four changes that occurred in world politics after the

end of Cold War. 6
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